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Problem quickname: 9002

1)

Which point belongs to which coordinate pair? Put the letters correctly into the free
table boxes.

(-6]-1) | 317) | (7]-5) | (-6]4)
2)

Which point belongs to which coordinate pair? Put the letters correctly into the free
table boxes.
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(15)
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3)

Which point belongs to which coordinate pair? Put the letters correctly into the free
table boxes.

X

C

B
(-6/3) | (-3]-3) | (-5]0)
4)

Which point belongs to which coordinate pair? Put the letters correctly into the free
table boxes.

14 4
13
12 N

n [ B

[y
o
I

= N W A O N 0 ©
I I I I I I I I I

(3]13)

(419)

(6]9)

(0]12)

(717)

www.dw-math.com

Page 2

smp-9002-2/PKUT



Good Luck!
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